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XAy
1. Express/og - in terms of /o , lo and /o
xP gzo ! gwx gwy ng

2
(i) 4/oglox— 2/og10y— 2/ogmz (i) 4/oglox+ 2/og10y— 2/09102 (iii) 4/ogmx+ 2/ogmy+ 2/ogmz

(iv) 4/ogmx— 2/ogmy+ 2/0g102 (v) 4/oglox— 2/ogmz+ 2/og10y

2. If /og9y+ 2/og9x=2 express y in terms of x

N R S <
(i) y== (i) y=g5 (i) y=__ (iv) y= >,
X 8l X
81
ac3
3. Express/ogg--- —in terms of /ogga , /oggb and /oggc
Vb

1 1 1
(i) log a— 3log c+ —/log b (ii) log a+ 3log c+ —log b (iii) 3/log c— —/log b+ log a
8 8 2 8 8 8 2 8 8 2 8 8

1 1
(iv) log a+ 3log c— —/log b (v) log a— 3log c— —/log b
8 8 2 8 8 8 2 8

Ve
4. Express/og - in terms of /og7p , log q , log r and log s
7 A 7 7 7

5 5
(i) log p+ —log g+ 4log r— log s (ii) log p— —log q— 4log r+ log s
7 2 7 7 7 7 2 7 7 7
5 . 5
(iii) /fog p+ —1log g — 4log r— log s (iv) log p— —log q— 4log r— log s
7 2 7 7 7 7 2 7 7 7

5
(v) log p— —log g+ 4log r— log s
7 2 7 7 7

5. If /og7x=pand /og7y=q,then Xy =
My 7P Giy 72P9 iy 7P () 7(P=9)

X
6. If / = d / =q,then-=
og x=pand log y=q eny

i) 5P Gy 5P iy 52P9 iy 5P9
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7. E / int f , d /
xpress oglo interms of Jog x , log yand log z

i) 2/ -5/ + 3/ i) 2/ + 3/ + 5/ i) 2/ - 3/ + 5/
(i) ogwx 50ng 3ogwy (i) ogwx 3ogwy ngoz (iii) ogwx 30910y 509102

iv) 2/ + 3/ -5/ 2/ — 3/ — 5/
(iv) ogmx 3ogwy 50ng (v) ogwx 30g10y ong

8. If /ogg/+ 2/og6x=2 express y interms of x

ox X 30 36
(i) y=3¢ (i) y= (i) y="5 (iv) y="
36 X X
atc
9. Express/og - in terms of /og5a , /og5b and /og5c
5
Vb

1 1 1
(i) 4log a—log c+ —=log b (ii) 4log a+ log c+ —log b (iii) log c— —/log b+ 4log a
5 5 2 5 5 5 2 75 5 2 75 5

1 1
(iv) 4/log a+ log c— —log b (v) 4/og a— log c— —/log b
5 5 2 75 5 5 2 75

VP2

As2

10. E / int f , , d /
xpress og7 in terms of Jog p, log g, log rand log s

(i) log 7,0 - /0g7q - 3/og7r— 2/0g7s (ii) log 7,0 + /0g7q - 3/0g7r— 2/og75
(iii) /og7p - /0g7q— 3/og7r+ 2/og7s (iv) /og7p - log7q + 3/0g7r— 2/og75

(v) log 7,0 + /0g7q + 3/0g7r— 2/0g75

11. If /og3x=pand /og3y= g, thenxy =

i 3P Gy 3P9 Giy 3(PTD i) 32P9
X
12. If /og4x=pand /og4y=q,theny=
iy 4P9 iy a2P9 iy a(PTD () 4(P=@
(a+1)

13. If /ogjx= aand /og3y= b, then 3 =

(i) 3 (i) 3a (i) 3x (iv) 3y (v) 3b

14. If /og8x= aand /0g8y= b, then 8(a+b) =

(i) ax (i) 8 (iii)) xy (iv) ab (v) yb



15. If /og4x= aand /og4y= b, then 4la=b)_

N X ..o a ...a . X y
(i) y (ii) b (iii) y (iv) b (v) X

3b
16. If / = d / =b,then6™ "=
og x=aand log y en

(i) 3y (i) 36 (i) a3 (v) y® (v) x3

17. Express /log p2q2 in terms of /og p and /log g

log p
(i) 2logg— 2/logp (ii) 2/logp+ 2log g (iii)) 2/og p— 2log g (iv)
log q
18. Express /log \/pq5 in terms of /og p and log g
1
log p

1 5
(i) > log p + 2/ogq (ii) 5/og g — log p (iii) logp + 5log q (iv) _5 (v) logp— 5logq

log q

¥ 25
19. Express /log \/p g° interms of /og p and /log q

2
2 5 5 log p
(i) -3 log p + -3 log g (ii) 2/logp+ 5/log q (iii) 5/logqg— 2logp (iv) 2logp— 5/og q (v)

log q

3
p
20. Express /log — interms of /og p and /log q
3
- log p
(i) 3logp+ 2logq (ii) 3logp— 2log g (iii) 2log g — 3log p (iv)
log q
3
p
21. Express log \/ in terms of /og p and log g
2
3
3 3 5 log p
(i) /og g — > log p (ii) > log p — log g (iii) (iv) > log p + log g
log q

22. If (x2+y2)=34xy,then 2/og (x+y)=

(i) logx—logy+ 2log6 (ii) logx+ logy+ 2log6 (iii) logx+ logy— 2log6 (iv) logx— logy— 2log6



23. If (x2+y2)=11xy, then log(x—y)=

1 1 1 1 1 1
(i) -2/ogx+ 2/ogy—/og3 (ii) -2/ogx+ 2/0gy+/og3 (iii) 2/ogx— 2/0gy—/og3

1 1
(iv) 2/ogx— 2/0gy+ log 3

24. If (x4+y4) =34)(2y2 , then /0g(x2+y2)=

(i) logx—logy+ log6 (ii) logx+ logy— log6 (iii) logx— logy— log6 (iv) logx+ logy + log 6

y2
25. If x= , then Jog (x—y)=
(y-1)
log x
(i) log xlog y (ii) log x — log y (iii) (iv) log x + log y
log y

26. If (x2 +y2) = 22 , then which of the following is true?

log (z+y)
(i) log (z+y) — log (z—y)=2 (ii) log (z+y) + log (z—y)=2 (iii) log (z+y) + log (z—y)=4 (iv) =3
X X X X X X /Og(Z—y)
(v) log (z+y) + log (z—y)=5
X X
27. If (x>+)3) =23, then which of the following is true?
log (z—y)
(i) log (z—y) + log (Z2+zy+y2)=6 (ii) =4 (i) log (z—y) — log (2+zy+y%)=3
X X log (22 +zy+y2) X X

(iv) log (z—y) + log (22+zy+y2)=3 (v) log (z—y) + log (22+zy+y2)=5

28. If (x4+y4) = , then which of the following is true?
(i) log (Z2=)y2) + log (Z2+y2)=6 (i) log (Z2—)2) — log (Z+y2) =4 (iii) log (Z—=)?) + log (Z+)*)=1

log (Z-y?)
(iv) =5 (v) log (Z2=)2) + log (Z+)2)=4
log (2 +?) X g

29 Ifx=1+/og ab ;y=1+ log bc ;z=1+ /ogbac,

. C a

then which of the following is true?

(i) (xy—xz+yz)=xyz (i) (x+y+2z)=xyz (i) (xy+xz+yz)=xyz (V) (xy—xz—yz)=xyz

(V) (xy+xz—yz)=xyz

30. If /0g8X= aand /oggy= b, then 8(a+1) =

(i) 8y (ii) 8 (iii) 8b (iv) 8a (v) 8x



31. If /og5x=aand /og5y=b,then 5(a+b)=

(i) ab (ii) ax (iii) yb (iv) 5 (v) xy

32. If /og9x=aand /og9y=b,then gla=b)_
a ...oxX ..oy X a
(i) b (i) b (iii) Y (iv) y (v) y
3b

33. If / = d / =b,then7” "=
og7x aan og7y en
(i) V3 (i) a3 (i) 3b (iv) 3y (v) X3
34. Express log ,03q2 in terms of /og p and /og q

3
log p
(i) 3logp+ 2/log q (ii) 3logp— 2log g (iii)) 2/og q— 3logp (iv)

log q

35. Express /log \/pq3 in terms of /og p and log g

1
1 3 log p
(i) logp— 3logq (ii) logp+ 3log q (iii) 2/og,0+ 2/ogq (iv) 3logg— logp (v)
log q
3 .
36. Express /og \/p3q2 in terms of /og p and /og g
3
2 — log p
(i) 3logp— 2logq (ii) logp + 3/ogq (iii) 2/og g — 3log p (iv) (v) 3logp+ 2log q
log q
o3
37. Express log in terms of /og p and log g
log p
(i) 3/logqg— 3logp (ii) 3logp+ 3log g (iii) (iv) 3/ogp— 3logq
log q
3
p
38. Express log \/ in terms of /og p and log g
q3
(i) 3/o + 3/o (ii) 3/o 3/o (iii) 09 F (iv) /o 3/o
29,0290 29029,0 1o g 29,0290

39. If (x2+y2) =14xy, then 2/og(x+y)=

(i) logx+ logy— 2log4 (ii) logx— logy— 2log4 (iii) logx—logy+ 2log4 (iv) logx+ logy+ 2/og 4



40. If (x2+y2)=11xy, then log(x—y)=

1 1 1 1 1 1
(i) 2/og)(+ 2/ogy—/ogB (i) -2/ogx— 2/0gy—/og3 (iii) 2/ogx— 2/0gy+/og3

1 1
(iv) 2/ogx+ 2/0gy+ log 3

41. If (x4+y4) =34)(2y2 , then /0g(x2+y2)=

(i) logx+ logy— log6 (ii) logx— logy+ log6 (iii) logx— logy— log6 (iv) logx+ logy + log 6
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